PUNJAB EXAMINATION COMMISSION
EXAMINATION 2015, GRADE 8 Model Paper

MATHEMATICS PART - A (Objective Type) 1
Part-A = 48 Marks, Part-B = 52 Marks, Total Marks = 100
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General Instructions: ey
1) Students are advised to choose one correctianswer toevery question.
S RLRE L LS R N
2) Read each question carefully before answering.
oy pfile i S
3) Encircle the correct option of MCQ with,a Black /Blue ink.
_ufis’)u’ua,gﬁydf / dK/,_,uzé‘ ZJirdé V-2
4) More than one encircled answers will be.considered incorrect.
¥ L(a.l.rru.’.{ e 9302 6L A sl e L]
5) Encircle the correct answer.as shown inthe example:

-‘g.l.f.l‘l;; JJ?’I&?J%U’I»/L.,IX{

Example: x*+x? = XA=x2 = @
a) x8 b) x° c) x* x2
Part-A (Multiple Choice Questions) Time Allowed: 1 hour

Instructions: -Thirty two (32) Multiple Choice Questions (MCQs) are given in this part.
Choose answer for each question. Each question carries 1.5 marks.

ALy gy S B 126 g s W S0 E 32U o 1 i

Q. No.1.  All possible subsets of {1,2} are: -ug.:gf;fru’é{l,Z}
a){1}{2} b){1},{12}
). {1}{2} {12} do, {3{1}{2}

Q.No.2.  If A={5}then P(A) is: -<P(A)jnA ={5}/i
a) {0,5} b) {{}.{5}} c) {{ 5}} d){}.{5}
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Q. No.3.

Q. No.4.

Q. No.5.

Q. No.6.
Q. No.7.
Q. No.8.

Q. No.9.

Q. No.10.

Q. No.11.

Q. No.12.
Q. No.13.

Q. No.14.

Q. No.15.

Q. No.16.

Q. No.17.

Identify the irrational number: S G SwPl S

a) \5 b) Vo c)+/16 d) 25
J100 =
2) 10 b) 20 0)25 d) 50

2) 3.0 b) 0.3 ¢) 0.03 d) 0.003
3512 =

2) 4 b) 8 ¢) 12 d) 16
(1001); + (101), =
a) (100), b)(101), ¢)(1001), d)(1100),
(21)s%x( 3)s =

a) (104)s b) (113)s ) 311)s d)(401)s

The decimal number 16 is written in binary.System as:
BRI AUV B L2 15 165406121
a) (10000), b) (10001), €).(10010), d) (10100)
Umer bought a computer for Rs.60000.and soldit for‘Rs.45000. His
loss percentage is:
e B NSl s S By 3850000014 F Ut 2,600002 3 LI #
a) 0.25% b) 15% c) 25% d) 33%
The annual income of Rizwan is Rs.450000. The amount of income tax at
the rate of 5% is:

el S Pl lo £ 5% 34500000 T st St

a) Rs.500 b) Rs:2500 ¢) Rs.25000 d) Rs.50000
(6xX2-3x+3) — (2x%4+3x+4) =

a) 4x%-6x-7 b)@4x24+6x-7 C) 4x2-6x+1 d) 4x%-6x-1
(3x2+2x) + (2x*+ D)=

a) 3x% 4x-1 b). x4 2x-1 C) 5x%+ 2x+1 d) 3x%+ 4x+1
x34%-3x2-3=

A){(x-3) (D) (x-3)(x*-1)  €) (x+3)(x*+1)  d) (x+3)(x*-1)

5x° +10%%+ 15X =

a) 5(x3+ 10x? + 15x) b) 5x(x?+ 2x+3)

c) X(5x2+ 10 +15x) d) 5x(1+2x% + 3X)

Factorization of 49x*>—64Yy’is: -« §FS49x* - 64y’
a)(7x + 8y) (7x-8y) b) (8y+7x) (8y-7x)

c) (7x-8y) (7x-8y) d) (7x+8y) (7x+8y)
IX?+BXy+y? =
a) (3x-y)(3x+y) b) (3x+y)(3x+y)

c) (3x-y)(3x-y) d) (x+y)(3x+y)
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Q. No.18.

Q. No.19.

Q. No.20.

Q. No.21.

Q. No.22.

Q. No.23.

Q. No.24.

Q. No.25.

Q. No.26.

A linear equation in two variables is: -g.gl,u&»,{d"f’/,alj’»
a)2x+3y=5 b)2x +3=5 c)2+3y=5 d)2x+3=0

1 . 1
If x+%= sthen the value of x* + =7 i ceedd X7+ v ?x+%= 3.1
a) 7 b) 9 c) 11 d) 18
In the given triangle, the value of x is:
e Xt el g
13cm
a) 8cm b) 12cm X
c) 18cm d) 144cm
B 5cm A
The surface area of a ball having radius 7cm is:
-‘g,}'ﬁi/ 4 u’u‘¢7cmm;m«°f Y
a) 144cm? b) 154cm? c) 308cm? d) 616cm?

The sum of all the interior angles of.@ pentagon is:
—ebnod Kug,u&u,clrv"éu}
a) 180° b)360° ¢).540° d)720°
If a cone has height 7cm and base radius,3cm then its volume will be:
K6 n3emunbe b s Temi.eklh F i
a) 21 cm3 b) 49 cm? c) 63 cm?® d) 66 cm?®
Polygon consisting ofsix'sides is‘called:
e Qb Ut g L2 o 2
a) heptagon &~ b) pentagon uj
c) hexagon (4~ d) octagon u‘"’
The sum of measures.of the three angles of a triangle is:
- A e SugpuF L ek

2y(90° By 180° ¢) 270° d) 360°

The breadth of the given rectangle is: PMITAS <t/
D C

a) 3cm b) 9cm

c) 20 cm d)41lcm
A 4cm B
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Q. No.27.

Q. No.28.

Q. No.29.

Q. No.30.

Q. No.31.

Q. No.32.

In the given parallelogram PQRS, the value of “ X ” is:
= X ULPQRSL g § )
a) 43° S

R
b) 65° X + 25)°
c) 112°
d) 162° 137°
P Q

A straight line that touches the circle at a single point is called:
bW ent S TR E (0, Ll pl
a) chord s b) secant &

C) segment »71s o5 d) tangent s
Sin 45° =

1 1
a) NG b) 5 c)\3 d) V2

In the given triangle mzA is : e m4A¢w&’u,
a) 30° ¢
b) 452 b=2 cm
C) 60 a= \/gcm
d) 90°
A lcm B
The median of the data3;4,5,6,3/4;5,4,4 iS:-c_2b-s6 4 4 <5 ¢4 3 <6 <5 4 3 sl

a) 3 b) 4 c)5 d) 6
Arithmetic mean of data9,0,3,2,6,2,8,4,2 is:
-‘4»,@&(2 4 826 <239 sy

a) 2 b) 3 c) 4 d)5

Grade-8, Mathematics, Paper-A, Page 4 of 4



	Instructions: -Thirty two (32) Multiple Choice Questions (MCQs) are given in this part. Choose answer for each question. Each question carries 1.5 marks.
	Time Allowed: 1 hour



